SH7E EHFHEEEEEEN FHXERLERR
_ SHTEA R KB
| GlE:! N
amotias | srrEamE "
¥ 18 - o St
T | & | BT | RS FpeST w0 | BOO | 500
& E 1 22 27 | -1 A [-100.0% +5A |+22.7%
B T E'n 1 —1 X | -100.0%
Wb T X - Mo R &
&y X M - K #H & 1 +1 A
x B - & B & 1 1 +0A =+0.0%
it i T *
E ES + A
&% i X - EHK £ RE 1 +1 A
sl I B & An
— B B W &= B
E K ¥ W = 2
& fia S 1 +1 A
Bk B W =F
E S ER-HR-KEZE
BEEEHEE -EEEESE
82 U8 o & EFFE 1 +1 A
/Iy _ &t 2 5 +3A | +150.0%
T & ¥ 1 PN
L i U N o i E
x| /b &t 1 +1 A
T * T = 2 —2 X[ -100.0%
Z KREFREBEISE 1 +1 A
| EXZUSNOEETS 1 2 +1 A | +100.0%
2| = 0o # o E F X 1 1 +0A | +00%
/N _ &t 4 4 +0A | +0.0%
BE| 2 B B U B % = 1 +1 A
gt £ E LS DE R EE
Wl BE £ B ¥ EH Ok OE
Bk B ZE E  E  F
- ¥l D &t 1 HA
£ B F 5 E F 3 -3 A | -100.0%
— #® ¥ 1 1 4 1A | -1000%| +3A | +300.0%
& EL_K 3 ¥ 1 -1 A_| -100.0%
%l Bt 1 5 4 -1A [-1000%] -1 A | -20.0%
& | /D 5 E3 2 1 —1 X | —50.0%
MR = X
2 | FRUuNDEE 2 1 1N | -50.0%
ik = ES
me | i = %= L 6 =% 4 3 —1 XN | —25.0%
%= |BEX| ZohOBREEEE 2 4 +2 A | +100.0%
= s ik £E ¥ 1 A
i@zl I L 2 B
E| ¥ LEREUMNETIRESE
X[ & | ELAVTFURE
b EXEREYLIEZE
E S FEEUNDERE
= i e
F 5 U o = = 1 2 +1 A__| +100.0%
N il | 11 ] | 12 ] | [ 1A [ +9.1%
M KERE ., FEELRSHRIRSILLETER B ERIELR),
X%ﬁﬁi_‘:lnd-rb/r)bxri%rwb)% F5FEKEE (SFEOAN. FFI7EON) ZR,




